

Test 2 PART 2

① $\int \frac{6x^3 + x^2 + x}{x^4 - 1} dx$

Note $x^4 - 1 = (x^2 + 1)(x^2 - 1)$
 $= (x^2 + 1)(x - 1)(x + 1)$

So $\frac{6x^3 + x^2 + x}{x^4 - 1} = \frac{Ax + B}{x^2 + 1} + \frac{C}{x - 1} + \frac{D}{x + 1}$ $\cdot (x^2 + 1)(x - 1)(x + 1)$

$6x^3 + x^2 + x = (Ax + B)(x - 1)(x + 1) + C(x + 1)(x^2 + 1) + D(x - 1)(x^2 + 1)$
 $= (Ax + B)(x^2 - 1) + C(x^3 + x^2 + x + 1) + D(x^3 - x^2 + x - 1)$

$= Ax^3 - Ax + Bx^2 - B + Cx^3 + Cx^2 + Cx + C + Dx^3 - Dx^2 + Dx - D$
 $= x^3(A + C + D) + x^2(B + C - D) + x(-A + C + D) + (-B + C - D)$

$\underline{x^3}$: $6 = A + C + D$
 $\underline{x^2}$: $1 = B + C - D$
 $\underline{x^1}$: $1 = -A + C + D$
 $\underline{1}$: $0 = -B + C - D$

plug in $x = 1$
 $6 + 1 + 1 = (A + B)(0) + C(1 + 1)(1^2 + 1) + D(0)(1 + 1)$
 $8 = 4C \Rightarrow \boxed{C = 2}$

plug in $x = -1$
 $-6 + 1 - 1 = (-A + B)(0) + C(-1 + 1)(1 + 1) + D(-1 - 1)(1 + 1)$
 $-6 = D(-4) \Rightarrow \boxed{D = \frac{3}{2}}$

$6 = A + C + D$
 $6 = A + 2 + \frac{3}{2}$
 $2\frac{1}{2} = A$
 $\boxed{\frac{5}{2} = A}$

$1 = B + C - D$
 $1 = B + 2 - \frac{3}{2}$
 $\boxed{\frac{1}{2} = B}$

1. (CONTINUED) So

$$\int \frac{6x^3 + x^2 + x}{x^4 - 1} dx = \int \frac{\frac{5}{2}x + \frac{1}{2}}{x^2 + 1} dx + \int \frac{2}{x-1} dx + \int \frac{\frac{3}{2}}{x+1} dx$$

$$= \frac{5}{2} \int \frac{x}{x^2 + 1} dx + \frac{1}{2} \int \frac{1}{x^2 + 1} dx + 2 \ln|x-1| + \frac{3}{2} \ln|x+1| + C$$

$$= \frac{5}{4} \ln|x^2 + 1| + \frac{1}{2} \tan^{-1}(x) + 2 \ln|x-1| + \frac{3}{2} \ln|x+1| + C$$

$$2. \sum_{k=1}^{\infty} \frac{k^2}{3^k}$$

Use RATIO TEST

$$\rho = \lim_{k \rightarrow \infty} \frac{a_{k+1}}{a_k} = \lim_{k \rightarrow \infty} \frac{\frac{(k+1)^2}{3^{k+1}} \cdot \frac{3^k}{k^2}}{\frac{k^2}{3^k}} = \lim_{k \rightarrow \infty} \frac{(k+1)^2}{k^2} \cdot \frac{3^k}{3^{k+1}} = 1 \cdot \frac{1}{3} = \frac{1}{3}$$

$$\rho = \frac{1}{3} < 1 \Rightarrow \text{Series Converges}$$

3.

$$\sum_{k=1}^{\infty} \left[\frac{3k^2 + 3k + 1}{4k^2 + 1} \right]^k$$

HINT USE ROOT TEST

$$\rho = \lim_{k \rightarrow \infty} \sqrt[k]{a_k} = \lim_{k \rightarrow \infty} \sqrt[k]{\left[\frac{3k^2 + 3k + 1}{4k^2 + 1} \right]^k} = \lim_{k \rightarrow \infty} \frac{3k^2 + 3k + 1}{4k^2 + 1} = \frac{3}{4}$$

$$\rho = 3/4 < 1 \Rightarrow \text{Series Converges}$$

4. $f(x) = \ln(x+3)$ $n=4$ $x_0 = 0$. Estimate $\ln(3.01)$

$$f(x) = \ln(x+3)$$

$$f(0) = \ln(3)$$

$$f'(x) = \frac{1}{x+3} = (x+3)^{-1}$$

$$f'(0) = \frac{1}{3}$$

$$f''(x) = -(x+3)^{-2}$$

$$f''(0) = -\frac{1}{9}$$

$$f'''(x) = 2(x+3)^{-3}$$

$$f'''(0) = \frac{2}{3^3}$$

$$f^{(4)}(x) = -6(x+3)^{-4}$$

$$f^{(4)}(0) = -\frac{6}{3^4}$$

$$p_4(x) = f(x_0) + \frac{f'(x_0)}{1!}(x-x_0)^1 + \frac{f''(x_0)}{2!}(x-x_0)^2 + \frac{f'''(x_0)}{3!}(x-x_0)^3 + \frac{f^{(4)}(x_0)}{4!}(x-x_0)^4$$

$\downarrow$ $\downarrow$
 $f'(0) = 1/3$ $x_0 = 0$

$$p_4(x) = \ln(3) + \frac{1}{3}x - \frac{1}{9(2!)}x^2 + \frac{2}{3^3(3!)}x^3 - \frac{6}{3^4(4!)}x^4$$

$$p_4(0.01) = \ln(3) + \frac{1}{3}(0.01) - \frac{1}{9(2!)}(0.01)^2 + \frac{2}{3^3(3!)}(0.01)^3 - \frac{6}{3^4(4!)}(0.01)^4$$